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296 |ER IR AT F5 5 A IF)1] |14F D3 ERIRETF/\ = 5F D1
297 |ERIR AT EF=F B IF)I| |14F# D4 ERIRETF/\ & 5FH# D8
298 |ER IR AT P F5 5 A IF)1] |14F D5 ERIRETF/\ = 5FHDI
299 |BRIRETH FF=F AU |[14FEHD6 ERIRETF/\ = S5FEHMD3
300 |ERIR BT EF = A UR)1] | 158 ER IR BT = A I BT 10& D3
301 |ERIRATH EF=F A )1 |16 ER IR BT = A IR T 10& D3
302 |ERIR AT EF =7 A U1 17840 ERIRETF/\ = 1&EHhD7
303 |ER IR AT EF=F B )1 [178 i BRIRATF/\ & 3& D4
304 |ER IR BT F5 5 A I )1] |18 & D1 ER IR BT = A I BT 11EHhD3
305 |ER IR AT F5=F A IR )1 |18 & D2 ER IR BT = A IR T 11EHD7
306 |ER Iz BT F5 = A IF)1] |18 D3 ER IR BT = A I BT 11E D6
307 |ERIR AT EF=F A )11 |19 BRI T = A IR T 11EHD7
308 | BRIz BT A F5 5 A )11 |20 D 1 ER IR BT = A I BT 8&E D1
309 |ERIR AT R EF=F B g )1 [218 i BRIRETF/\ & 6F DT
310 |ERIR AT B A )11 | 228 0 ERIRETF/\ = 6FEH D8
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311 |ERIRATH B A )11 |23 i ERIRETF/\ = 6FEH DT
312 |BRIR AT FF=F A U1 [24F D1 ER 3 BT = A W HT 9FEHI D1
313 |ERIRET A EF=F B &)1 [278# D2 BRIR BT/ \ & 3&H#h D9
314 |ERIR AT F5=F A IR |27F D3 ERIRETF/\ R IF/H D3
315 |ERIRET R EF=F B I 1| |2788 3t D4 BRIR BT/ \ & 2% D5
316 |ERIR AT F5=F A IR |27F D5 ERIRETF/\ & 3E D1
317 |ERIRATH EF = A 111 | 278 #10D6 ERIRETF/\ = 3FH D2
318 |ERIRAT R EF=F A 51| |29 BRIRETF/\ & 3F/EHDT
319 |ERIRET FH EF=F A 1)1 [30ZEH D 1 BRIRATF/\ & 6% thD2
320 | SRR AT EF=F A W) |30FEHD2 ERIRETF/\ = S5FE D4
321 |ERIRATH EF = A U1 |31 ER IR BT = A I BT 2F/H D17
322 |ERIRAT R EF=F B )1 |31 BRI BT A Ig T 6% tthD2
323 |ERIR AT B A 1511|328 s ERIRETF/\ = 6FEHID 11
324 |ERIRAT R EF=F B 51| |33 ih BRIRATF/\ & 3& D8
325 |ERIR AT B A 1) 1] |34 0 ERIRETF/\ = 6FH D2
326 |ERIRAT R EF=F A 51| 358 i BRI BT 5 A Ig T 1& D5
327 |ERIR BT B A )11 | 362t ER IR BT = A I BT 1&EH# D6
328 |ERIR AT FF=F A U1 |37 DT B 3 BT = A W HT 9FEHI D6
329 |ERIR AT P 5o A 1] |38 & D1 ER IR BT = A I BT 10&th D1
330 | SRR AT FF=F A U1 |38 F D2 B 3 BT = A I HT 9FE D2
331 |ERIR AT P E5oF A IR 1| |42F D1 ER IR BT = A I BT 11EhD2
332 |SRIR AT FFoF A U1 |42F D2 BRI BT = A I BT 11EHhD1
333 |ER IR AT P F5 o A 1] |45F D1 ERIRETF/\ = 2FH D2
334 |ERIR AT F5=F A IR 1] |45F D2 ERIRETF/\ R 2& D1
335 |ER IR AT F5 5 F I )1] |45 D3 ERIRETF/\ = 2FH# D6
336 SRR AT FFoF A U1 |45 D4 ERIRETF/\ = 2FE D3
337 |ER IR AT F5 o A I )1] |49 D1 ERIRETF/\ = 2FH D4
338 |ER R AT EF=F A g )1| [518 i B3 BT A I T 9B HDT
339 |BRIRETHHEFF AR [2F D1 BR 3R BT A U HT 11
340 |BRIRETHEFF A [2F D2 BRI BT = A I T 1E D1
341 |ERIRAThEFF Al [3Fih ER IR BT = A I BT 10& D4
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342 |ERIRATHEFF AR |41 ER IR BT = A I BT 5FHD 14
43 |BRIRET R EFF A IF  [4F/ithdD2 BRI BT = ) I BT 4FEH D8
44 |ERIRATHEFF A IR |4 D3 ER IR BT = A I BT 5FH# D6
345 |BRIRBTHEFF Al |4F D4 BR 3R BT = F WA BT 5% thD8
346 |BRIRATHEFF A IR |4 D5 ER IR BT = A I BT 5& D1
347 |BRIRBTHEFF Al |4FEHhD6 BR 3R BT = F WA BT 5% thD3
348 |ERIRATHEFF A IR  |4F-HhD7 ER IR BT = A I BT 5FH D8
349 |ERIRETHEFF A [5FE D1 BRIR BT\ R 1E D1
350 |ERIRATHEFF A IR |5B-HhD4 ER IR BT = A I BT 1 D2
351 |BRIRATHEFF R 75 thD2 BR 3R BT = F U BT 2% D4
352 |BRIRETREFFAUE  |9FHD1 BR 3R BT A U HT 18 H#h D2
353 |BRIRATHEFF A [9F D2 BR 3R BT = F U BT 1&H#h D8
354 |ERIRATHEFF A IR  |9B-HhD7 ER IR BT = A I BT 1 D3
355 |SRIRETHEFF AUE  |9FHD10 BR 3R BT = F U BT 1&H# D6
356 |ERIRATHEFF A IR |9 11 ER IR BT = A I BT 1 D2
357 |SRIRETHEFF AUE  |10FEHD1 BR 3R BT = F WA BT 1&H# D5
358 |ARIRATHEFF AU [10FHD4 ER IR BT = A I BT 1 D5
359 |SRIRETHEFF AUE |10 D5 BR 3R BT = F WA BT 1&H# D5
360 |ERIRATHEFF AR  |10F# D7 ER IR BT = A I BT 2FH D27
361 |ERIRATHEFFAIE |10F D8 ER IR BT = A IR T 2F D24
362 |SRIRATHEFF AU [17FHD1 ER IR BT = A I BT 2F D7
363 |SRIRETHEFFAUE  |[17FMD2 BR 3R BT = F U BT 9& D3
364 |ERIRATHEFF A IR  |17& D5 ER IR BT = A I BT 10& D3
365 |SRIRETHEFFAUE  |17FHD8 BR 3R BT = F WA BT 3EHD10
366 |BRIREThEFF AU [17FE#D 10 |SRIRETF A IAHET 3B DS
367 |SRIRETHEFF AU  |17FMMD11 |SRIRETF A IGET 3& D8
368 |ERIREThEFF AU  [17FE#D12  |SRIRETF A IAHET 9FE D3
369 |SRIRETHEFFAUE  |17FMD13  |SRIRETF A IGET 3FEHDI
370 |BRIREThEFF AU [17FERD 14 |SRIRETF A IAHET 2F D6
371 |BRIRETHEFF AUE  |19FHD1 BR 3R BT = F U BT 3& D2
372 |ERIRETHEFF Al |19FHD2 ER IR BT = A I BT 2F D2
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73 |ERIRATHEFF AUG  |19FHD3 ER IR BT = A I BT 3B D1
74|18RIRET R EFF A IG (19T D4 ER 3 BT = A I HT 4ZEHL D6
375 |ERIRATHEFF A IR |19F D5 ER IR BT = A I BT 4FEH D6
376 |BRIRETHEFF ARG  [19FH D6 BRI BT = A I T 2% D2
377 |ERIRATHEFF AR |19 D7 ER IR BT = A I BT 2FH D3
378 |ERIRATHEFF A [19F/H# D8 B3 BT 5 A I BT 3FHDI
379 |SRIRATHEFF Al |[19FH DI ER IR BT = A I BT 2F D3
380 |SRIRETHEFF AUE  |19FMD10  |SRIRETF A IGET 2% D2
381 |ERIRATHEFF A IR | 20F D1 ER IR BT = A I BT 2FH D23
382 |BRIRATHEFF A [20BHI D1 B3 BT 5 A I BT 2% D26
383 |ERIRATHEFF A IR |21 D1 ER IR BT = A I BT 4FEH D6
384 |BRIRET R EFF A I |21 M D6 B 3 BT = A I HT 4ZEHLD6
385 |ERIRATHEFF AR |21 D7 ER IR BT = A I BT 1t D4
386 |SRIRATHEFF AU |21 FEHDS BRI BT = A I BT 4BEHD11
387 |BRIRETHEFF AW  [21F#D10  |SRIRETSF A I5ET 4FEH DI
388 |BRIRET R EFF AIG  [21FHD12 B 3 BT = A W HT 4FEHD13
389 |BRIRETHEFF A  [21F#D14  |SRIRETF A I5ET 2FH D2
390 |SRIRETHEFF AUE  |21FMD 16 |SRIRETF A IGET 2% D2
391 |BRIRETHEFF A  [21F#@D20  |SRIRETF A I5ET 4FEHD10
392 |BRIRET R EFF A IF  [23FHD2 ER 3R BT = A I HT 4ZFEH D3
393 |ERIRATHEFF A IR  |23FHD4 ER IR BT = A I BT 4FEH D2
394 |ERIRATHEFF A IR  |23F M D5 ER IR BT = A IR T 4 D13
395 |ERIRATHEFF AR | 238 #dD6 ER IR BT = A I BT 4FEH DA
396 |ERIRATHEFF A IR |24 D2 BRI BT = A IR T S5 D12
397 |ERIRATHEFF A IR |25% D3 ER IR BT = A I BT 5FHD10
398 |ERIRATHEFF A [26F/HID5 B3 BT 5 A I T 5F D10
399 |ERIRATHEFF A IR | 278D ER IR BT = A I BT 5FHDI
400 |SRIREThEFF AU [27FH#D2 BRI BT = A I T 5&H D9
401 |BRIRETHEFF AU 278 D7 ER IR BT = A I BT 5FH DI
402 |SRIREThEFF AU [27FH#D8 BRI BT = A I T 6F D1
403 |ERIRETHEFF AU |28%&iHh ER IR BT = A I BT 6FEH DT
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404 |EBRIRETHEFF AU [29-HD 1 ER IR BT = A I BT 6FEH D4
405 |SRIREThEFF AU [20FH#D2 BRI BT = A I T 6F DT
406 |SRIRETHEFF AR |29F D4 ER IR BT = A I BT 3FH D2
407 |SRIRETHEFF AU |29FHD5 BRI BT = ) I BT 12& D1
408 |SRIRETHEFF AU 298 #1D6 ER IR BT = A I BT 9FEH D5
409 |BRIRETHEFF AU |29 D7 BRI BT = A I BT 12&th D2
410 |BRIRETHEFF AU [29-H1D8 ER IR BT = A I BT 9FEH D4
A |BRORETREFF AIE |20 #D10  |ERIRETS A IS HT 6&thD5
412 |SRIRETHEFF AU |33 ER IR BT = A I BT 6F#1 D6
A3 |SRIREThBFFHIE  [34BH#D2 B3 BT 5 A I BT 3& D5
414 |BRIRETHEFF Al [34/HD3 ER IR BT = A I BT 3FEH DA
415 |SRIREThBFF AU [34BH D8 B3 BT 5 A Ig T TEHD 1
416 |SRIRETHEFF A |34F/H DI ER IR BT = A I BT 1EHDI
417 |BRIRETHEFF AU |34FHD 11 BRI BT = A IR T 12& D3
418 |BRIRBTREFF Al |34F/HhD 12 |BRIRAETF B IGHET 12F D3
A9 |SRIRETHEFF AIE  |34F/HD13  |ERIRETS A IGHET 1& D2
420 |BRIRBTREFF AU |34F/HhD 14 |BRIRETF B IGHET 2FH D16
421 |SRORETHEFF AIE  |34FHD15  |ERIRETS A IGHET 1& D7
422 |SRIRBTREFF AUG  |34F/D17  |ERIRETF/\S 1 D3
423 |SRIRETHEFF HUE  [35F/HD2 BRI BT 5 A I T 1&Hh D3
424 |SRIRETHEFF A [36/HAD 1 ER IR BT = A I BT 3FH DT
425 |SRIREThEFF HiUE  [36FH#D2 BRI BT 5 A I T 2% D8
426 |SRIRETHEFF A [36:/HD3 ER IR BT = A I BT 2FEHD10
427 |SRIRETREFF AlE  [36FH#D4 B3 BT 5 A I T 2&H# D9
428 |SRIRETHEFF AU [37/HD2 ER IR BT = A I BT 2FEH D13
429 |ERIRETHEFF AU [37H/HD3 BRI BT = A I T 2E D14
430 |SRIRETHEFF AR |37&HD4 ER IR BT = A I BT 2FHD 14
431 |BRIRETHEFF AU [37FHD6 BRI BT = A I T 2F D13
432 |SRIRETHEFF AU [38/HAD 1 ER IR BT = A I BT 1&E# D4
433 |EBRIRETHEFF AR |38FHD4 ERIRETF/\ R 1&HD3
434 |SRIRBTREFFILE (9T D3 BRI BT F 4R 2%&h D8
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435 |BRIRET R EFFILE  |9ZHD5 ERIRET 4 2F# D6
436 |ERIRET p EF = 1L 9EH D6 ERIRHT i 2E D6
437 |SIRET R EFFILE (9T DT BRI BT F 4R 2% D6
438 |SRIREThEFFILE  [9FHD10 BRI BT 45 i 2&H D6
439 |SRIRBTHEFFILE  |9FHD12 BRI BT F 4R 2% D6
440 |ERIR AT EF = FE/\ & | 1350 ERIRETF/\ = 3FEH D6
441 |SRIRBT R EFFiEE |1 FEHD1 BRI BT F 4R 2& D1
442 |SRIREThBFFHEE 21 BRI BT 45 i 2% D2
443 |SRIRBT H BFFifEiE | 2F D2 BRI BT F 4R 2% D11
444 |SRIRETh BFFHEE 2B D3 BRI BT 45 i 2& D11
445 |SRIRBT HBFFifEE |31 BRI BT F 4R 2% D10
446 |SRIREThBFFHEE  [3FHD2 B3 BT SR 25 8 & th (D26
447 |BRIRETH EFFHgiE  |8FI D1 ERIRETFER AT 8F D26
448 |SRIRET R EFFiEE | 10B/HD2 BRI BT 45 i 2% D8
449 |SRIRBT R BFFiEE  |10BHD3 BRI BT F 4R 2%&th D8
450 |SRIRETh BF=FiEiE |11 BRI BT 45 i 2% D8
451 |SRIRAT R EFFHEE  |12%ih BRI BT F 4R 2%&th D8
452 |SRIRETh BF =i [13%ih BRI BT 45 i 2% D8
453 |SRIRAT R EFFHEE |14 BRI BT F 4R 3& D2
454 |SRIRETh BF=FiEE  |15%ih B3 BT 45 i 3&E D2
455 |SRIRAT R EFFHEE  |16%iHh BR IR BT F 4R 2% D2
456 |SRIREThBF=FiEE  [178i#h B3 BT 45 i 2% D2
457 |SRIRBT R EFFiEE | 18B/HD1 BRIk BT F 4R 2% D3
458 |SRIRET R EFFifEiE | 18F/HD2 BRI BT 45 i 2%&hD4
459 |SRIRAT R EFFiEE | 18F/HD3 BRI BT F 4R 2% D5
460 |BRIRET R EFFHEiE  |18FHD4 BRI BT 45 i 3& D4
461 |SRIRAT R EFFiEE | 18B/HD5 BRI BT F 4R 2% D4
462 |BRIRET R EFFHEE  |18FHID6 B3 BT 45 i 3& D4
463 |SRIRBT B FiEE  [18F#D10 |SRIRATFiEE 2% D5
464 |SRORETREFFiEE  |18F/HD12  |BRIRATFHEE 3& D3
465 |SRORET RS riEiE  [18F/#hD13  |SRIRATFHEE 3FEH®D3
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466 |SRIRAT HEFFHEE  |10FiHh BRIk BT F 4R 2% D7
467 |SRIREThEFFHEE  [20BHID B3 BT 45 i 1EH#h D4
468 |SRIRAT R EFFiEE | 20BH#D2 BRI BT F 4R 5%1th18
469 |SRIRET R EFFHEIE |20 D4 BRI BT 45 i 5%t 18
470 |SRIRBT R BFFiEE  |21B/HD1 BRI BT F 4R 5% hD 11
A71 |SRORET R EFFiEE |21/ HD2 BRI BT 45 i 5D 13
472 |SRIRBT R EFFiEE  |21B/HD3 BRI BT F 4R 5%&1th 15
473 |SRIRET R EFFiEIE |21/ HD8 BRI BT 45 i 5D 14
474 |SRRBT RS FHEE  |21F D15 |BRIRATFHE:E 5FH D8
475 |SRORET R BFFiEiE |21/ D16  |BRIRETFHEE 5& D9
476 |SRIRBT R EF a2 |21F/ D17 |SRIRATFHE:E 5FEHD12
477 |SRARETh BFFHEE  [22B/HIOD B3 BT SR 25 6F D1
478 |SRIRBT R EFFiEE  |23BHD1 BRI BT F 4R 5%&th D2
479 |SRIRET R BFFiEiE | 23F/HD2 BRI BT 45 i 5& D1
480 |SRIRBT R EFFiEE  |23BHD3 BRI BT F 4R 5%&th D5
481 |BRIRET R EFFHEiE  |23FHD4 BRI BT 45 i 4% D20
482 |SRIRAT R EFFiEE  |23BHD5 BRIk BT F 4R 4% D21
483 |BRIRET R EFFHEiE  |23B/HDT BRI BT 45 i 5% hD3
484 |SRIR AT HEFFHEE  |23FHDI BRIk BT F 4R 5%&tth D2
485 |SRIRAT R EpraasE  |23F#D10  |BRIRATFHE:E 4 D22
486 |SRIRBT R EF a2 |23FHD10  |BRIRATFHE:E 4FEH D24
487 |SRIRETh BFFHEE  [24BHID BRI BT 45 i 5% th D5
488 |SRIRAT R EFFiEE  |24FHD2 BRIk BT F 4R 5&hD7
489 |SRIRET R EFFiEiE  |24F/HD3 BRI BT 45 i 5&HDT
490 |SRIR AT HEFFHEE  |24F/HD4 BRI BT F 4R 5% D7
491 |SRIRETh BF=FiaE  [26B/HIOD BRI BT 45 i 5&HDT
492 |SRIRAT R EFFHEE |25 D4 BRI BT F 4R 5&hD7
493 |ERIR AT R EF IR\ I |9FE D5 ERIRETF/\ = 3FH DS
494 | 8 SR BT F A2 ET 6% thD2 B 3 BT 42 BT 40FH D2
495 | SR R BT FAEET 1& D1 B 3 BT 42 BT 39FE D17
496 | 8 SR BT F A2 ET 8 &t B 3 BT = FE BT 39F D19

16 / 23




|B# R R R R

[BEEFR EMET ]l
No. (M= £ (M) FE o o F A E
497 |8k 3z BT FAERT 9E D1 B 3 BT = FE BT 39FEH# D15
498 | BRIz BT SFAEHT 9F D2 B 3R BT = FE T 39FEM D19
499 |8k 3z BT FAERT 9% D3 B 3 BT = FE BT 9EHDI19
500 | 8 3 BT S 4E BT 9F D4 B 3R BT = FE T 39FEHD 14
501 |8 3k BT F 2 BT 10%ih B iR BT FAE T 39FEH D19
502 | 8k $fx T = FE BT 117 B Y BT = FE T 39FEH D5
503 | & 3 BT FAERT 12%ih B iR BT FAE T 39EHh D6
504 | 8k $fx T = FE BT 12& D1 B Y BT = FE T 39FEHh D6
505 | &R 3k BT FAERT 13%Hh D1 B 3 BT = FE BT 40% #h 26
506 |8k 3 BT = 2 BT 13&th D2 B Y BT = FE T 39FEH DT
507 | R 3k BT FAERT 13&H D3 B 3 BT S FE BT 39EHh D6
508 | 8k $fx T = FE BT 14&h D1 B Y BT = FE T 39FE D13
509 | &R 3 BT FAERT 14& D2 B 3 BT S FE BT 39&E D8
510 |8k ¥k BT = FE BT 15& D1 B Y BT = FE T 39FE D12
511 | 8RR BT FAERT 15& D2 B 3 BT S FE BT 39FEHh D12
512 |8k 3k BT =F FE BT 15&th D3 B Y BT = FE T 39FE D12
513 | SR 3k BT FAERT 16&Hh )1 ERIR BT AR 6&tthd15
514 | &R I BT F 1EET 16&H#h D2 ERIRHT i 6 D17
515 | SR 3x BT FAERT 17&h D1 B 3 BT S FE BT NBEHDI17
516 |8k 3k BT =F 2 BT 17& D2 B Y BT = FE T NEHDIT
517 | SR 3% BT FAERT 18%ih B IR BT FAE T 1BEHD16
518 | SR ¥k BT F HE BT 19% #h B Y BT = FE T 11FEHD16
519 | BRIk BT FAERT 20 h B iR BT FAE BT 41FEH# D15
520 | 8k $fx BT = FE BT 215 B Y BT = FE T 41FEH DI
521 |83k BT F A2 BT 22F#h D1 B 3 BT = FE BT 11 FEH D12
522 | 8k $fx BT = FE BT 22F D2 B Y BT = FE T y1FEHDI14
523 | & 3z BT 5 BT 48 5% thD2 B 3 BT = FE BT 39F Hh D22
524 | & Yz HiT = BT #2 5FH D3 B I T = FE AT 39Fh D20
525 | & 3z BT 5 BT 48 5% th D5 B 3 BT = FE BT 39E D4
526 | Yz HiT = BT 2 5FEHD7T B I T = FE AT 39FHh D20
527 | & 3z BT 5 BT 48 6F D1 B 3 BT = FE BT 39 #h 20
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528 | & 3z BT 5 T 48 6&tthd10 BRI BT F 4R 6&tthdD13
529 | Bk $fx T =F BT 42 11E#hD4 B Y BT = FE T 39FEH D18
530 | S 3z T =F BT 42 NEH®DS B S BT = FE T 39F D18
531 | B I BT = BT 48 11&EH D6 B 3 BT FHE T 6D 13
532 | & 3z BT 5 BT 48 11&EH D7 B 3 BT = FE BT 39F#h 20
533 | S Hfx T = BT 42 NBHDA B Y BT = FE T 39FEH D18
534 | & 3z BT 5 BT 48 12FHD 1 B 3 BT = FE BT 39 #h 20
535 | & Iz HiT = BT 2 12& D3 B Y BT = FE T 39FHh D20
536 | & I BT 5 T 48 12 D5 B 3 BT = FE BT 39 #h 20
537 | & Yz HiT = T #2 12& D7 B Y BT = FE T 39F Hh D20
538 | & 3 BT 5 HT 48 13%th B 3 BT F FE BT 39F#h D20
539 | & Iz HiT = BT 2 157 i ERIRHT F SR 8FEM D17
540 | & 3z BT 5 BT 48 16%&th B 3 BT F FE BT 40 #h D33
541 | Yz HiT = BT #2 17&Hh D1 B Y BT = FE T 40FHh D9
542 | & 3z BT 5 BT 48 18D 1 B 3 BT S FE BT 39F D4
543 | Yz HiT = BT #2 18&th D4 B Y BT = FE T 39F D1
544 | & 3z BT 5 T 48 19 H D 1 B 3 BT = FE BT 39T D1
545 | & Iz T = BT 2 19&th D2 ERIR AT F SR 2EMD7
546 | & 3z BT 5 T 48 197 BRIk BT FER A 2& D7
547 | Yz HiT = BT 2 19&h D8 B Y BT = FE T 39F D1
548 | & 3z BT 5 HT 48 20D 1 B 3 BT S FE BT 40T D9
549 | & Iz T =F BT 2 20&F#h D3 B Y BT = FE T 39FE#h D2
550 | & 3 BT 5 HT 48 21BN 1 B 3 BT = FE BT 40T ) 1
551 | & Iz HiT =F BT 2 22% i ERIRET F IR 2EMD7
552 | & 3 BT 5 BT 48 23T D1 BR IR BT FER A 2% th D6
553 | & Yz HiT = BT #2 23FH D3 ERIR AT F SR 2E D6
554 | & Yz HiT = BT 42 247 i ERIRETF SR 2F# D6
555 | & Iz HiT = BT 2 25% ih BRI HT i 1D
556 | & 3 BT 5 T 48 26D 1 B 3 BT = FE BT 40BH D3
557 | SR ¥fx T =F BT 42 26&HDZ B Y BT = FE T 40FEH D10
558 | S $fz T =F BT 42 27F/DO B 3z T =F #E T 40Fh )32
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559 | & 3 BT 5 HT 48 28D 1 B 3 BT S FE T 40EH D2
560 | & Yz HiT = BT #2 28F D2 B Y BT = FE T 40FE D2
561 | B Y BT = HiT 2 28F D3 ER 3w BT 2 AT 40 D27
562 | Bk Hfx T =F BT 42 20FHh D 1 B Y BT = FE T 40F #h )28
563 | & 3z BT 5 T 48 29FH D2 B 3 BT = FE BT 39FH D11
564 |8k 4z T =F BT 42 20F#h D3 B Y BT = FE T 40F #h )25
565 | & 3z BT 5 T 48 29F D4 B 3 BT = FE BT 40FH D2
566 | Yz HiT = BT 2 30F D1 B Y BT = FE T 40FHh D4
567 | & 3 BT 5 BT 48 30FEH D5 B 3 BT = FE BT MNBEHD3
568 | Yz HiT = BT 2 30FEHh D6 B Y BT = FE T 40FHh D21
569 | & Iz BT 5 T 48 30T/ DT B 3 BT S FE BT 40F H D21
570 | & Yz HiT =F BT 2 30&F D8 B Y BT = FE T 40FHh D20
571 | B Y BT = HiT #2 30 D9 B 3w BT 2 AT 40D 15
572 | Yz HiT = BT #2 0FEMDI0  |ERIRATFIEMT 40FH D16
573 |ER 3fx BT = HiT 8 30FE D11 ER 3w BT 12 AT 40 D17
574 | & Yz HiT = BT 2 0FEMDI2  |ERIRATFIEMT 40FH D16
575 | &R 3 BT S BT 48 0F/MDI13  |SRIRETFIEAT 40% tth )29
576 | Iz HiT = BT 2 0FEMMDI4  |ERIRATFIERT 41FEH D4
577 | SR 3z BT 5 T 48 0FMDI5  |SRIRETFIEET 40% th ) 12
578 | Yz HiT = BT #2 0FEMMD16  |ERIRATFIEMT 40FH D15
579 | &R 3 BT 5 T 48 0F/MD17  |SRIRETFIEET 40% tth )29
580 | & x HiT = HiT #2 0FEMMD18  |ERIRATFIEMT 40FHh D29
581 | B Y BT = HIT 2 30&E D19 ER 3w BT A2 AT 40 D6
582 | Iz HiT = HiT #2 0FEMMDI9  |ERIRATFIEMT 40FEH DT
583 | & 3 BT 5 T 48 30FEM D20  |SRIRETFIEAT 40% tth )29
584 | & Yz HiT = BT #2 30FHh D21 B Y BT = FE T 40FHh D29
585 | & 3z BT 5 T 48 0F/M D22 |SRIRETFIEAT 40EH D5
586 | Yz HiT = BT #2 0FEM D23 |ERIRATFIEMT 40Fh D 30
587 | & 3z BT 5 T 48 0F/M D24 |SRIRETFIEET 40 1 D31
588 | Iz HiT = BT 2 2&FHhD1 B I BT = FE T 40FH D15
589 | & 3 T 5 HT 48 2T/ H D2 B 3 BT = FE BT 40% th ) 12
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590 | & 3z BT 5 ET 48 33F i B 3 BT S FE BT 40% D 15
591 | & Iz HiT = BT #2 37EH D1 B Y BT = FE T 40FHh D18
592 | & 3z BT 5 T 48 1B/ D6 B 3 BT S FE T 40% D19
593 | & Iz HiT = BT #2 37&EH D11 B Y BT = FE T 40FHh D20
594 | & 3z BT 5 T 48 JIB/MDI12  |SRIRETFIEET HNBEHD2
595 | & Iz HiT = BT 2 J7FEMMI3 | ERIRATFIEMT 41FEHD5
596 | & Iz BT 5 T 48 JIB/MDI4  |SRIRETFIEET MNBHDT
597 | & Iz HiT = BT #2 J7FEMMDIS  |ERIRATFIEMT 40FHh D21
598 | &R 3z T = HiT 2 31E D16 ERIRETF i 3B
599 | & Iz HiT = BT 2 J7FEMMDIT  |BRIRATFIEE 1&EHDS
600 | & 3 BT 5 HT 48 JIIF/MDI18  |SRIRETFIEAT 40% D19
601 | & Yz HiT = BT #2 J7FEMMI9  |ERIRATFIEMT 40FH D19
602 | & 3 BT 5 HT 48 38D 1 B 3 BT S FE BT 40% tth )23
603 | & Yz HiT = T #2 38FE D2 B Y BT = FE T 40FHh D24
604 | & 3 BT 5 T 48 38F/ M D4 B 3 BT S FE BT 40% tth )23
605 | Sk $ix T =F BT 42 39F ih B Y BT = FE T A1 BERDIT
606 | & 3 BT 5 HT 48 40% h B 3 BT F FE BT A FEHD17
607 |SRIRETF 28 21D ERIR AT F SR 113
608 | SRR AT F %8 21&#h D4 ERIRETFER AT 1EH D11
609 |BRIR AT 28 21FMD17 | BRIRATFIRA 2F D1
610 |SRIRETF 28 21FE#D25 | BRIRATFIRAS 12D 10
611 |SRIRATF 28 21F# D26 |ERIRATFIRA 2% D2
612 |SRIRETF =8 21F# D28 |BRIRATFIRAS 1D 14
613 |SRIRATF 28 2% D1 ERIRHT F IR 2% D8
614 |SRIRETFE R 22F# D2 BR IR BT FER A 2% D4
615 |SRIRATF 28 22FH D5 ERIR AT F SR 2FEH DI
616 |SRIRETFZEE 22F# D8 BR IR BT FER A 2 D7
617 |SRIRATF 28 22FMD12 | ERIRATFIRA 2EMD7
618 |SRIRETF 22FH D13 |SUIRATFERA 2% D4
619 |BRIRATF 28 2FMD14 | BRIRATFIRA 2EMD7
620 |SRIR AT F %8 23FH D1 ERIRETFER AT 112
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621 |SRIRETF =8 23F D2 ERIRETFER AT 1EH D11
622 |SRIRETF 28 23F D4 ERIRHT F IR 1D 10
623 |SRIRETFEE 23FH D5 BR IR BT FER A 1EH# D9
624 |SRIRETF 28 23FH D6 ERIRHT F IR 12 D8
625 |SRIRETF 23FEH DT BR IR BT FER A 2% D3
626 |SRIRETF 28 24FH D2 ERIR AT F SR 3FEHD6
627 |SRIRETFE 24FH D3 BR IR BT FER A 3F D2
628 |SRIRETF %8 24FH D5 ERIR AT F SR 1 D6
629 |SRIRETF 24FH D6 BR IR BT FER A 3FE DI
630 |SRIRETF 28 24FH DT ERIR AT F SR 1&E D7
631 |SRIRETFE 24FH D8 BR IR BT FER A 3FEHD1
632 |SRIRATF %8 267 ih ER IR BT F SR AT 1&EH# D5
633 |SRIRATF =8 27% i ERIRETF SR 1 D5
634 |SRIRETF 28 28D 1 ERIRAT F IR 1& D4
635 |SRIRATF =8 28FH D2 ERIRETFER AT 1& D3
636 | SRR AT %8 29% ih B Y BT = FE T 41FER D10
637 |SRIRETF =8 30F i ERIRETF SR 1t D4
638 |SRIRATF %8 31 BRI BT F SR T 1&EH# D5
639 |SRIRETFEF 32FEHD1 BRIk BT FER A 2% D5
640 | SRR AT 28 2FH D1 ERIRET F IR 3FEM DS
641 |SRIRETF 32FEH D3 BR IR BT FER A 3FEH®D3
642 |SRIRETF 28 2FEH D4 ERIR AT F SR 3FHD4
643 |SRIRETF 28 2FH D4 ERIRETFER AT 3FH D11
644 |SRIRETF 28 32&FH D5 ERIRHT F IR 3FMDT
645 | SRR AT F 28 2FH D6 ERIRETF SR 3FEHD13
646 | SRR AT F 28 2T DT ERIR AT F SR 3FEM D12
647 |SRIRETF =8 2FH DS ERIRETF SR 3FEH®D 10
648 | SRR AT F %8 32& DI ERIRET F SR 3FEM D8
649 |SRIRETFEF 33Fih B 3 BT = FE BT 40BH D11
650 | Bk I BT = &= £E 4RI ERIRETFER AT S5EHDI
651 |BRIR BT F = £E 4T D2 ERIR AT FERE 1D 18
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652 | SRR BT F = 88 4% D3 BR 3R BT A U HT 2F# D22
653 | SRR ETF = £ 4 D5 ERIRETF/\ R 1&EH D9
654 | SRR BT F = 88 4% D5 BR 3R BT A U HT 2% # D20
655 | Bk I BT F &= £E 4R D11 ERIRETFER AT 1&H D16
656 | SRR BT F = £E 4AFEHD15 BR IR BT FER A 5& D1
657 | BRIk BT F = 4K 4%t 16 BR IR BT F SR AT 1&H#h D2
658 | SRR BT F = £E 5&#h D9 BR IR BT FER A 1E D1
659 | SRR BT F = £ 5F 25 ERIR AT F SR 15D 18
660 | SRR BT F = 88 5% tth 26 BR IR BT FER A 12818
661 | R R BTF = £E 6ZtthdD 10 B3 BT 5 A I BT 2% D22
662 | SRR BT F = 28 6&tthd12 BR 3R BT A U HT 2FH D21
663 |ERIRATHEFF A G |15t ERIRHT = A I 23%ih
664 |BRIRATHEFF AR  |8FHhD1 ER IR BT = A I 247 ih
665 |ERIRATHEFF A G  |8ZhD2 ER IR HT = A I 25% ih
666 |BRIRATHEFF AR |8 D3 ER IR BT = A I 267 ih
667 |ERIRATHEFF A IR  |8FHhD4 ER IR AT = A I 27%
668 |ERIRATHEFF AR |11FHD1 ER IR BT = A I 28% i
669 |SRIRATHEFF AW |11FEHD2 ER IR BT = A I 29% i
670 |SRIRATHEFFAUE |[11FEHDI ER IR BT = A I 30F i
671 |SRIRATHEFF AW [11FEHD4 ER IR BT = A I 31
672 |BRIRATHEFF AR  |12F D1 ER IR BT = A I 32% ih
673 |BRIRETREFF AIG  [12FHD2 ER IR BT =F A I 33
674 |BRIRATHEFF AR 13T D1 ER IR BT = A I 34F i
675 |ERIRATHEFF A IR  |13FMD2 ER IR HT = A I 35
676 |BRIRETHEFF A IG [14FHhD1 ER IR BT =F A I 3671
677 |SRIRETHEFF A  |14FHD2 ER IR BT =F A I 37
678 |ERIRATHEFF A IR  |14F D3 ER IR BT = A I 38FE i
679 |ERIRATHEFFAIE |15F D1 ER IR HT = A I 39F i
680 |ERIRATHEFF A IR |15&F D2 ER IR BT = A I 40% ih
681 |SRIRATHEFFAIE |15FHMDI ER IR BT = A I 417
682 |ERIRATHEFF AR |15F D4 ERIR BT = A I 42% i
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683 |BRIRETHEFF AIG [16FHhD1 ER IR BT =F A I 4373
684 |BRIRETHEFF A IG [16FHD2 ER IR BT =F A I 447
685 |BRIRATHEFF A IR  |20F D2 ER IR BT = A I 457 ih
686 |SRIRATHEFF AU |20FHD4 ER IR BT =F A I 4621
687 |BRIRATHEFF A IR 21T (D2 ER IR BT = A I 47%
688 |SRIRATHEFF A |[21FHD4 ER IR BT A I 4881
689 |SRIRATHEFFigiE |5FMD1 ER IR BT R EF = LU 36F i
690 |ERIRATHEF=FifgiE |5 D2 B I AT 5 E5 = L 37FE
691 |SRIRATHEFFigiE  |6Fth D1 BRIRETREFILE  |38Fih
692 |SRIRATHEFFigiE  |6FthdD2 ERIRETREFFILE (397
693 |SRIRATEFFigiE  |71HMM D1 BRIRETHREFILE  |40FiHh
694 |SRIRATHEFFigiE  |7TEMMD2 BRIRETREFILE (417
695 |SRIRATHEFFigiE  |7HEMD3 BRIRETHREFILE  |42%iHh
696 |BRIRET P EFFHEIE (9D SURETR B e |44%th
697 |SRIRATHEFFigiE |9 D3 BRIRETHREFILE  |43%ih
698 |SRIRATh FFigiE  |9FHhD4 BRIRET R FILE (457
699 |SRIRATh EF=rigiE  |[10FHD1 BRIRETHREFILE  |46FiHh
700 |ERIRETh i |10F D6 BRIRETREFILE (477
701 |ERIRETHEFFigiE |21 HD4 BRIRETHREFILE  |49FiHh
702 |ERIRETh Er i |21t D6 EBRIRETREFFILE (557
703 |SRIRET R Er i [21F D9 BRIREThEFFILE |54
704 |SRIREThEpFiEE  [21FHD10  |SRIREThEFHFILE  |53FH
705 |ERIREThEFFigiE  |[21F D11 BRIRETREFILE  |52%iHh
706 |BRIREThErFiEiE  |21FBMD12  |SRIRETHEFFIL 51Fih
707 |BRIRETh ErFiEE  |21F/HD13  |SRIRETHEFFILE  [50%Fih
708 |BRIRET hEFFiEE  [21FBHD14  |SRIREThEHFILE  [48FiH
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